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QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Tl vy # Ru or Redt & @ ww RE
(?) & TUT W HE T FEA A FEAT

3|6 2
1 i
Options:
1)1
2)2
3)3
4)6
Correct Answer: 2
QID : 202 -
How many triangles are there in the given figure?
& ¢ ey # fraa e ¥
/’//
/
/
,/
Options:
1)4
2)6
3)5
4)7

Correct Answer: 6

QID : 203 -

the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘X’ can
be represented by 20, 97, etc., and ‘M’ can be represented by 13, 68, etc.
Similarly, you have to identify the set for the word “HURT”.

U QG had Uh R gRT gAlaT I, Star fF fawedt # @
el v A R arm §) RAdeul # B aw @ Rt & o) it
gRT v 7w §, Shar & KGu e oY anegpt # &1 wegs & Taew AR
Ufth & FEAT 0 F 4 § 3R MYENH 5 9| 39 PR d TH MR
P Ugel UM Uk IR GG F TAEH TEAT GRT SN ST FhAT &
3GIER0T & ol X @t 20, 97, NG ERT GRAAT ST Fhell & AT ‘M’ &I 13,
68, 3 ERT AT ST Thal &1 W Re & INUH oA & RBU usg
“HURT” & fore aep @ agamer ¢l

Matrix-1 Matrix-ll

gl -l
0[1]2]|3]|4 5|/6(7|8|9
O|B|[T|F|[I|C 5|Z|U|J|S|G
1{RIE|[I'|M|T 6[(HIO|Q|M|J
2[X[OJU|L[E 7T[K[P]V[S]|N
3|I1|E|Z|B|G 8|E|G|O|L|R
4(S(H|(B|O|J 9|T|[F[X|O|A

Options:

1) 41, 56, 10, 95
2) 65, 56, 87, 13
3) 65, 12, 89, 01
4) 41, 22,87, 01
Correct Answer: 41, 56, 10, 95

QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 IR P A W 3@ I WET A g
orw & uw sl Bfka &

N

Options:

1)

X

2)

3)

/|

4)
Correct Answer:



http://www.a-pdf.com/?ms-demo

QID : 205 - -

Which answer figure will complete the pattern in the

question figure? 4) ” »
o Iy . & D & uReT @ g Correct Answer:
<
FHf?
‘_
Options: QID: 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
1) answer figures, indicate how it will appear when
opened?
N @ & un wgpladl # R@Emw 3wgER e &
2) AZHT e TA TWiod & g I¢ [ I g
Y s fer$ eme
) A A
4) ions:
Correct Answer: Options:
1 :
oo
1)
o
\l
[o] o
2)
QID : 206 -
If a mirror is placed on the line AB, then which of the 3)
answer figures is the right image of the given
figure? .a
IfE e gdoT @ AB TT W T@T o, &t & W 4)
TR gt ¥ A W o uw e & Correct Answer:
Ter ufafewa eefre ‘@
A
o
o
L o 0 o
B
Options: QID: 208 - If 'N' means X', 'L' means '+', 'Q' means '-'
— and 'P' means '+, then
11L3P4N8="?
1) alm Zrﬁ\— 'N' T 3_]-21- 'X', L' T 3_1-2& |+|, IQI T 3_]-2&— 1 aar P
— T 37T 'L g ar
2) Options:
1)17
2) 14
a0 3)11
3) 4) 24

Correct Answer: 17



QID:209-If 11 # 13 = — 2 and 47 # 43 = 4, then
11#6=7?
gig 11 #13=-2aAT 47 #43 =48, ar

11#6=7
Options:

1)5

2)9

3)3

4)4

Correct Answer: 5

QID : 210 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Count

2. Coach

3. Crown

4, Crazy

5. Craft

fATIT@T ersel 1 Aseehier F 3T Tl A F AR
o |

1. Count

2. Coach

3. Crown

4, Crazy

5. Craft

Options:

1) 25134

2) 21534

3) 21543

4) 23154

Correct Answer: 21543

QID : 211 - In the following question, select the missing
number from the given series.

4, 27,16, 125, 36, ?

fAFafaf@d gea & QU v fAevedt & & ocd 3 A
ST

4, 27, 16, 125, 36, ?
Options:

1) 49

2) 343

3) 64

4) 512

Correct Answer: 343

QID : 212 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

SI QI ol MI ?

T 3efehA T o &, Tord @ v ug ofed g1 T
T fahedt # F a8 T Ahed AT, ST IThA Y
Q@ A

$,Q0O/M,?

Options:

1)]

2)L

3)K

4)1

Correct Answer: K

QID : 213 - In the following question, select the odd
word from the given alternatives.

rfafaa ae & feu v fOewedt & & Qv s &t
AT

Options:

1) Cutting

RICaIT

2) Distribute

EIGI

3) Divide

TSt

4) Together

Teh A1

Correct Answer: Together
Teh AT

T @YU

QID : 214 - In the following question, select the odd
number pair from the given alternatives.

Arfaf@a g & fou a1v Aseul & & v g&ar
g7A Fr aﬁltr_, |

Options:

1) 7 - 343

2) 8-512

3)4-128

4)5-125

Correct Answer: 4 — 128

QID : 215 - In the following question, select the odd
letters from the given alternatives.

Aefaf@d geT & RU 91w [Aereul & ¥ Qv 37eRT
& gfav|

Options:

1) ADGJ

2) ILOR

3) EHKN

4) PSVX
Correct Answer: PSVX

QID : 216 - Identify the diagram that best represents
the relationship among the given classes.
Stapler, Female, Sister

5 3@ AT S A R A A & T F dy w7
e fAwIoT AT B

VYR, AfgdT, 98
Options:

©o

1)

2)

D
O
@D

3)




OO
O

4)
Correct Answer:

©o

CIC)
O

QID : 217 - In the following question, select the related
word from the given alternatives.
Lethargy : Alertness : : Lazy : ?

frafaf@a uea & R a1v fawedr & & gefea s
@ giaw|

HTEET : ST : : el : ?
Options:

1) Industrious

SIEEE)

2) Coward

PRI

3) Ignorance

AfFAT

4) Unclean

3RS

Correct Answer: Industrious

Rl
i

QID : 218 - In the following question, select the related
number from the given alternatives.

16:49::38:?

Trafaf@a o 7 fGu a1v fowear 7 & wefta g
@ giav|

16:49::38:?

Options:

1) 100

2) 121

3) 144

4) 169

Correct Answer: 121

QID : 219 - In the following question, select the related
letters from the given alternatives.

PT:SX::ON:?

farafaf@d g & Gu 71w fawedt & & dafta Rt
& AT

PT:SX::ON:?

Options:

1) RQ

2) QQ

3)RR

4) QR

Correct Answer: RR

QID : 220 - In the following question, select the word
which cannot be formed using the letters of the given
word.

MANAGEMENT

fAeAfaf@d faeedl & & dg e YA S T 1w
ersg & 3T&RT FT TART b Aal SeIrAT ST HehdT|

MANAGEMENT
Options:

1) GAME

2) TEAM

3) MANAGE

4) SAGE

Correct Answer: SAGE

QID : 221 - Present age of Q and Ris in ratio 3 : 4.
After 5 years age of Q will 23 years. What is the present
age (in years) of R?

Q T RAT AT Y 3: 4 & 3eqarad & g1 599
qRuTd Q T Y 23 Y gHT| R T aciATET 3G (ast #)
FT 87

Options:

1) 20

2) 24

3) 18

4) 26

Correct Answer: 24

QID : 222 - Ais 13" from left and 19" from right in a
line of people. How many people are there in the line?
IfFaar $r v dfed # A S & 13- 9T g F 19-
ar %| gfea & iﬁ' ERGRIEGRT

Options:

1) 32

2)31

3) 30

4) 33

Correct Answer: 31

QID : 223 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

I. Some green are mangoes.

I1. No green is yellow.

Conclusions:

I. No mango is yellow.

II. No yellow is mango.

A QU T oo H FT FYA AR A% 916 3 FHA!
W INURA F& sy fev 1T §, grefifeh 30 =g
AT d2Ar & fReardr g ashdr g1 Tt fashy 9¢ 3R
R AuiRa & & Ru av #ia & oy, ju v
FYAT H YR W FiFTHTT g

hYeT:

L G & A ¢l



II. P & dreT 81 1
s

I F1S 3 A 787 &

I1. g fer 37 AL &
Options:

1) Only conclusion (I) follows.
Fad s (1) & &

2) Only conclusion (II) follows.

oo e (1) a&r &

3) Both conclusion follow.

art & forsehy weér §

4) Neither conclusion (I) nor conclusion (II) follows.

o o sy (I) 7 & sy (1) |8 2

Correct Answer: Neither conclusion (I) nor conclusion
(II) follows.

T ar sy (1) 7 & sy (11) Ter &1

Faer ey (1) T8 &

QID : 224 - In a certain code language, "END" is
written as "DMC". How is "FOG" written in that code
language?

T TafAse g 9T &, "END" &t "DMC" for@r Srar

g1 39 P15 T F "FOG" F 5T YR for@r STwam?
Options:

1) GNE

2) EME

3) ENF

4) GNF

Correct Answer: ENF

QID : 225 - In a certain code language, "BAT" is
written as "23" and "EAR" is written as "24". How
is "HEN" written in that code language?

s fafdse g #mr

#H, "BAT" &I "23" g1 "EAR" &I "24" @ JATar gl
30 HIs AW H "HEN" & g R for@r Sean?
Options:

1) 27

2) 24

3) 26

4) 23

Correct Answer: 27

QID : 226 - Which of the following statement is/are
true?

I. Odd + Odd = Even

I1. Odd + Odd + Odd = Odd

frafafaa & & aia avd a0 T 8.2
I. Qv + favdq = 97

II. Qv + TAveH + fawe = fawe
Options:

1) Only I

Hael 1

2) Only II

Sael II

3) Both I and II

I @ 11 gt

4) Neither I nor II

a1 Il

Correct Answer: Both I and II
I g II gt

Fad 1

QID : 227 - Which of the following is NOT a prime
number?

rafaf@a & @ Fila @ e 39eT FEar A 82
Options:

1)41

2) 47

3)91

4)73

Correct Answer: 91

QID : 228 - What will be the remainder when 421 is
divided by 11?
J9 421 1 11 ¥ Fefara faar S, ar QAuher F=ar

gham?

Options:

1)3

2)5

3)7

4) 4

Correct Answer: 3

QID : 229 - What will be the remainder when (401 +
402 + 403 + 404) is divided by 4?

9 (401 + 402 + 403 + 404) & 4 & fasniaa foear
ST, A AYH FAT BIaM?

Options:

1) 10

2)2

3)6

4)3

Correct Answer: 2

QID : 230 - What is the least number multiplied to 300,
so that number becomes multiple of 105?

300 & U FieT W FEH ST HEAT UM A A, Alfh
EAT 105 T T[0T g1 SATT?

Options:

1) 35

2)7

3)21

4)3

Correct Answer: 35

QID : 231 - The product of two numbers is 225. If one
of the number is 45, then what is the another number?

ar HEATHT &I U 225 &1 IS Uw HEdr 45§, ar
Options:

1)3

2) 15



3)5
4)7
Correct Answer: 5

QID : 232 - A and B together can do a piece of work in
10 days and A alone can do it in 15 days. B alone can do
the work in how many days?

A Tar B fAe T S 1 10 fEat 7 9 R FFd §
T A 3kl 38 15 el & Q@ #X Fhar g1 B 3l
38 1 B fFder et # qu T Fehar 872

Options:

1) 30

2) 45

3)12

4) 24

Correct Answer: 30

QID: 233 - If 2/7" of a cistern is filled in 18 minute,
then what is the time (in minutes) needed to fill the
remaining part?

gfe S @1 2/7-a7 HET 18 fAsie & o Sirar &, a s
U ST HY ¥R H fohetelt T (Retel #) e
Options:

1) 45

2) 30

3) 90

4) 60

Correct Answer: 45

QID : 234 - The lengths of two diagonals of a rhombus
are 15 cm and 20 cm. What is the area (in cm?) of the
rhombus?

T FHAGHS & & faeoll T oFars 15 A qur 20
QA &1 geEagsst @1 aathel (A H) Fr g2
Options:

1) 120

2) 150

3) 190

4) 180

Correct Answer: 150

QID : 235 - The marked price of a chair is Rs 800 and a
discount of 30% is given. What is the selling price (in
Rs)?

T FHT H1 3ifhd HoT 800 T & U 37 W 30% Hr
e & Tl 81 T Jea (% ) = 82

Options:

1) 560

2) 600

3) 610

4) 620

Correct Answer: 560

QID : 236 - The marked price of an article is 40% more
than its cost price. If a discount of 5% is given, then
what is the profit percentage?

T qE] &I Hihd Hed 3% HT Hod F 40% 3w
g1 & 5% Fr g & ST, ar o gfaerd = §?
Options:

1) 28
2) 33
3)35
4) 38
Correct Answer: 33

QID : 237 - If 2/7 of P = 4/3 of Q, then whatis P : Q?
IfE Par 2/7 = QT 4/3 81, @ P: QT 87
Options:

1)14:3

2)3:7

3)14:5

4)7:5

Correct Answer: 14 : 3

QID : 238 - If x/y = 3/5, then what is the ratio of (3x +
2y) and (3x — y)?

afE x/y = 3/58, @ (3x + 2y) FAT (3x —y) F IqaTd
FIT 872

Options:

1)19:4

2)19:7

3)17:4

4H17:7

Correct Answer: 19 : 4

QID : 239 - The average of 21 numbers is 12. If one
number is excluded, the average becomes 10.5. What is
the excluded number?

21 gEam3t & 3taa 12 g1 afe v T ger & S,
ar 3iEa 10.5 & ST &1 &C1S IS TEAT AT g7
Options:

1) 42

2) 32

3) 28

4) 38

Correct Answer: 42

QID : 240 - By selling an article for Rs 416, a
shopkeeper gains 30%. To gain 40% what should be the
selling price (in Rs)?

T I N 416 T H 99 W Th ghleR H 30%
AT I g1 40% e FA & v fasa 7ea (7 #)

FIAT g1 dATfgT?
Options:

1) 426

2) 448

3) 472

4) 442

Correct Answer: 448

QID : 241 - By selling an article for Rs 720, a
shopkeeper gains 20%. To gain 40% what should be the
selling price (in Rs)?

Tk aEJ T 720 F H SI7 W TH ghlAcR Fl 20%
AT I &1 40% o8t AT & v fasha #ea (7 #)
FIT glaAT TAIRT?

Options:
1) 820



2) 840
3) 860
4) 960
Correct Answer: 840

QID : 242 - If one-third of a number is 125, then what
will be the 64% of that number?

i freY T&am FT THh-fagrs 125 §, af 38 H§&aT &1
64% FIAT BM?

Options:

1) 240

2) 360

3) 480

4) 180

Correct Answer: 240

QID : 243 - If the price of a commodity is decreased by
30% and its consumption is increased by 10%, then
what will be the percentage increase or decrease in the
expenditure of the commodity?

I Uk a&q HT HIAT 30% HA & ST § TUT FHAT
g 10% §¢ S g, o a¥g W @ 7 fohda gfcerd
1 gfy ar T g

Options:

1) 23% decrease

23% Fr FHAT

2) 23% increase

23% r Elﬁg”

3) 17% increase

17% % 3fg

4) 17% decrease

17% &7 &aT

Correct Answer: 23% decrease
23% &I HAT

23% 1 gy

QID : 244 - Ritik can cover a certain distance in 18
hours if he walks at the rate of 10 km/hr. If he covers
the same distance by bus at the rate of 45 km/hr, then
what is the time (in hours) taken by him?

R Ifg 10 F.A /e f afg T I ar 98 &
fAfRaa gt 18 6¢ & a7 & Jar €1 g 9% ad
I garT 45 fRA/Aer Fr afa & a7 &, dr 39 hder
AT (Uer #H) oeem?

Options:

1)2

2)4

3)8

4)6

Correct Answer: 4

QID : 245 - If 300 metres long train takes 30 seconds to
cross a pole, then what is the speed (in km/hr) of the
train?

Ifg T 300 HeT FFel IR Th WHES U e
% foIT 30 THUs oIl g, df Yeremar & arfa (.. /ger
) Far §?

Options:

1) 18

2) 36

3) 54

4)72

Correct Answer: 36

QID : 246 - Same principal is invested in schemes of
compound interest and simple interest. The interest
obtained in compound interest and simple interest
schemes after 2 years are Rs 3360 and Rs 2800
respectively. If the rate of interest is 40%, then what is
the principal (in Rs)?

A HAU Thdfg SATST Ul HTUROT ST &Y
A3 & fAder fmar Srar 81 asdte sarer aur
HTIROT AT ATl H 2 IST o IaTd el 3360 T
AT 2800 & SATST UIcd giar g1 Ife AT & 40% g, ar
AU (3 H) FT §?

Options:

1) 3500

2) 4500

3) 2500

4) 5500
Correct Answer: 3500

QID: 247 -

The pie chart given below shows the number of
books of 5 different subjects in a library. The total
number of books in the library is 360.

g Rr v @@ R # = geew # 5
faftyeer fawat v geaet & w@ar @ g o=
¥l graeTe # grae H Fer FEAT 360 ¥

Hindi/ English/
Bt 90° 3731, 108°
Mathematics /
a1fora, 45° scioncl Social Science /
=ma, 45°
’ e, 72°

How many books of English are there in the library?
qEaHTerT 7 3T i e qead €2

Options:

1)75

2) 180

3) 108

4) 1080

Correct Answer: 108

QID : 248 -



The pie chart given below shows the number of
books of 5 different subjects in a library. The total
number of books in the library is 360.

g9 Rr ow @@ R # & geed # 5
faftyeer fawat & geaet & w@=ar & g o
¥ graeTeT # grae & Fer FEAr 360 ¥

Hindi/ English/
Bt 90° 3731, 108°
Mathematics /
a1fora, 45° scioncl Social Science /
=T, 45°
’ &, 72°

Which 2 subject’s books are present in equal number in
the library?

qEdHerg # fohat 2 fawal 1 qEde SRR gear A
3ufeya §?

Options:

1) English and Social Science

IS aUr arASS AT

2) Hindi and Mathematics

IFANGEIKIEIG]

3) English and Hindi

37 qUr e

4) Mathematics and Science
CITIGESEIRCEIC

Correct Answer: Mathematics and Science

EIEGEGEIRCEIG
37T aur fB=dr

QID: 249 -

The pie chart given below shows the number of
books of 5 different subjects in a library. The total
number of books in the library is 360.

o o ow @ e # o gEmeww # 5
faftes fowat & geget Hr T @ g I
¥ QEaee # QRS & gl FEAT 360 €

Hindi/ English/
fr=dr 90° 3=, 108°
Mathematics /
7ford, 45 Scioncd] Social Science /
=TT, 45°
/ e, 72°

What is the difference between the number of books of
English and that of Social Science?

3T GEHT TAUT FIATSTS [T T TEent T
TEIT & ALY HT JR FT 72

Options:

1)72

2) 36

3) 108

4) 90

Correct Answer: 36

QID : 250 -

The pie chart given below shows the number of
books of 5 different subjects in a library. The total
number of books in the library is 360.

R Rr w w Y # 5 gmeew # 5
faffes Rwal & grget Hr @Ear # g T
¥ graeery # grde! & Fel T 360 ¥

Hindi/ English/
m, 900 Bi?ﬁ\_:-ﬂ', 108°
Mathematics /
foTd, 45 Scioncd] Social Science /
=TT, 45°
’ e, 72°

What is the total number of books of Hindi and Social
Science?

fRedy ar arenforen fammer T gEdenr & Fol dEAT FAT
&7

Options:

1) 198

2) 135

3) 160

4) 162

Correct Answer: 162

QID : 251 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.
However, the essential services (1)/ and critical staff in
a government (2)/ will be on duty today. (3)/ No
Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

QID : 252 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.
Mumbai were crawling at a (1)/ snail’s pace yesterday,
is slowly (2)/ returning to normalcy. (3)/ No Error (4)



Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

QID : 253 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Turn the AC before you leave the office
Options:

1) out

2) off

3) down

4)in

Correct Answer: off

QID : 254 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I dislike eating in a restaurant.

Options:

1) noiseful

2) noising

3) noised

4) noisy

Correct Answer: noisy

QID : 255 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Perish

Options:

1) Energize

2) Revive

3) Refresh

4) Decease

Correct Answer: Decease

QID : 256 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Nudge

Options:

1) Allow

2) Leave alone

3) Poke

4) Withdraw

Correct Answer: Poke

QID : 257 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Panic

Options:

1) Calm

2) Contentment

3) Confidence

4) Frenzy

Correct Answer: Frenzy

QID : 258 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Auspicious

Options:

1) Bright

2) Happy

3) Unlucky

4) Timely

Correct Answer: Unlucky

QID : 259 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Spare

Options:

1) Necessary

2) Free

3) Option

4) Surplus

Correct Answer: Necessary

QID : 260 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Remarkable

Options:

1) Famous

2) Odd

3) Rare

4) Normal

Correct Answer: Normal

QID : 261 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
Between the devil and the deep sea

Options:

1) Go fishing and cause trouble

2) Between two great difficulties

3) Speaking sharply

4) To begin working seriously

Correct Answer: Between two great difficulties

QID : 262 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

A child’s play

Options:

1) Very innocent

2) Very annoying

3) Something that is very easy

4) Very irritating

Correct Answer: Something that is very easy

QID : 263 - Improve the bracketed part of the
sentence.

To conform to a set of rules (an) regulations without a
real voice in their formulation.

Options:

1) and

2) to



3) but
4) No improvement
Correct Answer: and

QID : 264 - Improve the bracketed part of the
sentence.

It includes a (decision of the status) of British and EU
migrants resident in their respective territories.
Options:

1) decision to the status

2) decision on the status

3) decision of the status

4) No improvement

Correct Answer: decision on the status

QID : 265 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

A man who remains unmarried.

Options:

1) Widowed

2) Councilor

3) Bachelor

4) Propeller

Correct Answer: Bachelor

QID : 266 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

A supreme ruler.

Options:

1) Patriarch

2) Anarchic

3) Monarch

4) Matriarch

Correct Answer: Monarch

QID : 267 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Sicondary

2) Secondiry

3) Secondary

4) Secondory

Correct Answer: Secondary

QID : 268 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Strength

2) Strenth

3) Stringth

4) Strentgh

Correct Answer: Strength

QID : 269 - Rearrange the parts of the sentence in
correct order.

The greatest

P: is to meet the

Q: needs of the society

R: challenge for education

Options:

1) PRQ

2) PQR

3) QRP

4) RPQ

Correct Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in
correct order.

The increase of the

P: shrinking of forest area
Q: has led to the

R: population of our country
Options:

1) QrRP

2) PRQ

3) QPR

4) RQP

Correct Answer: RQP

QID : 271 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
For centuries of human existence, we have believed or
are rather to believe that humanity has by
nature, been divided into or castes and that
certain races are superior to others in terms of physical
or intellectual endowments. The discrimination that
follows this belief is called racism or .Since time
immemorial, society has been divided into various classes
and communities. In countries like India, there was a
caste system. It was believed that God had created
people of a particular caste only to do one kind of job. So
the castes were developed along occupational lines. The
people who performed low-key jobs were treated very

. This attitude has been so strongly ingrained in
the Indian psyche that it continues to exist even

, to some measure.
we have believed or are rather
Options:
1) taught
2) brought
3) thought
4) sort
Correct Answer: taught

to believe that

QID : 272 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

For centuries of human existence, we have believed or
are rather to believe that humanity has by
nature, been divided into or castes and that
certain races are superior to others in terms of physical
or intellectual endowments. The discrimination that
follows this belief is called racism or .Since time
immemorial, society has been divided into various classes
and communities. In countries like India, there was a
caste system. It was believed that God had created
people of a particular caste only to do one kind of job. So
the castes were developed along occupational lines. The
people who performed low-key jobs were treated very



. This attitude has been so strongly ingrained in
the Indian psyche that it continues to exist even
, to some measure.
into or castes and that certain races
Options:
1) faces
2) races
3) cases
4) braces
Correct Answer: races

QID : 273 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
For centuries of human existence, we have believed or
are rather to believe that humanity has by
nature, been divided into or castes and that
certain races are superior to others in terms of physical
or intellectual endowments. The discrimination that
follows this belief is called racism or .Since time
immemorial, society has been divided into various classes
and communities. In countries like India, there was a
caste system. It was believed that God had created
people of a particular caste only to do one kind of job. So
the castes were developed along occupational lines. The
people who performed low-key jobs were treated very

. This attitude has been so strongly ingrained in
the Indian psyche that it continues to exist even

, to some measure.
this belief is called racism or
Options:
1) atheist
2) agnostic
3) apartheid
4) proteid
Correct Answer: apartheid

QID : 274 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
For centuries of human existence, we have believed or
are rather to believe that humanity has by
nature, been divided into or castes and that
certain races are superior to others in terms of physical
or intellectual endowments. The discrimination that
follows this belief is called racism or .Since time
immemorial, society has been divided into various classes
and communities. In countries like India, there was a
caste system. It was believed that God had created
people of a particular caste only to do one kind of job. So
the castes were developed along occupational lines. The
people who performed low-key jobs were treated very

. This attitude has been so strongly ingrained in
the Indian psyche that it continues to exist even

, to some measure.
were treated very
Options:
1) lovely
2) nicely
3) sincerely
4) badly

Correct Answer: badly

QID : 275 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
For centuries of human existence, we have believed or
are rather to believe that humanity has by
nature, been divided into or castes and that
certain races are superior to others in terms of physical
or intellectual endowments. The discrimination that
follows this belief is called racism or .Since time
immemorial, society has been divided into various classes
and communities. In countries like India, there was a
caste system. It was believed that God had created
people of a particular caste only to do one kind of job. So
the castes were developed along occupational lines. The
people who performed low-key jobs were treated very

. This attitude has been so strongly ingrained in
the Indian psyche that it continues to exist even

, to some measure.
it continues to exist even , to some
measure.
Options:
1) tomorrow
2) today
3) present
4) weekday
Correct Answer: today

QID : 276 - While calculating GDP, which among the
following is NOT included?
frafaf@a & & Sl ar ST 7 aoEr 7

enfarer sigt fopar Sar?
Options:

1) Final goods

Jfa\ aq

2) Final services
3HfaH darw

3) Intermediate goods
#Egadl €]

4) None of these

ST | FIS G
Correct Answer: Intermediate goods
aEgadl €]

S A FIS AL

QID : 277 - Where do the banks use the major portion
of the deposits?

AT F 93 REW FT 39T dF Fgl A 87
Options:

1) To pay the depositors

STATShCIT3 T $TaTciTel

2) To extend loans

HOT & fa&aR

3) To create infrastructure

iy afen

4) To pay the salaries



ool poio)
Correct Answer: To extend loans

FOT T AEar
STHThCII3T T $aTcTTel

QID : 278 - How many Fundamental Duties are given in
Indian Constitution?

R T & fhaey #ifes sasg & gU &7
Options:

1) 10

2) 11

3)12

4) 14

Correct Answer: 11

QID : 279 - Which among the following is the supreme
law that determines the relationship among people living
in a territory and also the relationship between the
people and government?

Preafafld & ¥ i wafoa FeE & owd Rt &
H I@eT arel @Il & o o A9l FEY dF gl & A1d-
I AT JUT THR & i & oo Y a7 giad 72
Options:

1) The President of India

HRA & Isgafd

2) The Prime Minister of India

HRA & THTAFHAT

3) The Indian Constitution

AR afaers

4) The Chief Justice of India

HRA & T AT

Correct Answer: The Indian Constitution

R wfaers

AR |iaersT

QID : 280 - In which year Simon Commission came to
India?

forg a¥ & ASHT FHER/NA HRA 3T AT?

Options:

1) 1919

2) 1925

3) 1927

4) 1932

Correct Answer: 1927

QID : 281 - Which Delhi Sultan planned a campaign to
capture a Mongol territory for the first time in the history
of the Sultanate?

Hodeld & sfaerd # Ugell IR HINA &F W heoll el
& fav ool & v o & veh M dr Aretan
FATS 2A?

Options:

1) Alauddin Khilji

Jem3dr f@ersh

2) Ghiyasuddin Tughlaq

ARG JTeTh

3) Muhammad Tughlaqg

HEFHAC el

4) Bahlol Lodi

EEGIGRCIC

Correct Answer: Muhammad Tughlaq
HgFHC JITelsh

HgFHC JITelsh

QID : 282 - Which is the only continent through which
the Tropic of Cancer, the Equator and the Tropic of
Capricorn pass?

FieT AT THATT Heledld ¢ fTa gl &b, fagaa aar
HRY @M TR 87

Options:

1) Australia

sireeforar

2) South America

gfgyor 3@AReT

3) Asia

ofRrr

4) Africa

3ThTeRT

Correct Answer: Africa

37hTeRT
Jireeforar

<

QID : 283 - What is the duration of South-west
Monsoon season (Rainy) in India?

ARA 7 gfaror-aftas AT & Atad (@) @ s
FT 82

Options:

1) March to May

AT q A

2) October and November

HFSR H FAdFN

3) December to February

aFaR & Ay

4) June to September

ST & RarR

Correct Answer: June to September
ST & RarR

ST & RarR

QID : 284 - Cholesterol is synthesized in
ProrEeiol Hl H e forar e gl
Options:

1) Brunner’s

EGES

2) Kidney
Ipd

3)cLiver
IEEENGIEE)
4) Stomach



AR

Correct Answer: Liver
SR ()

Thd

[

QID : 285 - Five-kingdom classification was proposed by

EIERCCISECECa) GART gEdTiad & 9 |
Options:

1) Whittaker

EJEEDY

2) Huxley

g

3) Linnaeus

fofasa

4) Lamarck

AT

Correct Answer: Whittaker
CJELDY

fofasa

QID : 286 - Kwashiorkor is likely in children who get

FATAIRA CH Jedi A g AhaT g o ol &l
Options:

1) low-carbohydrate diet

HH FEEBC Al

2) low-vitamin diet

A oA dee

3) low-mineral diet

A Gl HiSteT

4) low-protein diet

FHH QI HISteT

Correct Answer: low-protein diet

FH N Haa
FH Giael drald

QID : 287 - The combined effect of mass and velocity is
taken into account by a physical quantity called

GETAT AT I 1 Gk THTE &1 s A= &
3R oY forr S g, S gl ST gl
Options:

1) impulse

3TaeT

2) moment of force

Afda s &7o1

3) momentum

afer

4) speed

EIGI

Correct Answer: momentum

Y
dlel

QID : 288 - Two bodies are in thermal equilibrium if
they have same

afe
Options:

1) temperature
A9 HTeT

2) amount of heat

FSAT & AT

3) mass

ST HTT

4) velocity

I

Correct Answer: temperature
A9 HTT

A9 HTeT

%,Fﬁ.ﬁﬁmmﬁ@ﬂﬂﬁﬁ'l

QID : 289 - What are the list of coded instructions
called?

15 T T A&elt i gEr # FAr Fad &2
Options:

1) Algorithm

TeailRGH

2) Computer language

HTICI AT

3) Computer program

Y WHITH

4) None of these

ST | FIS TG

Correct Answer: Computer program
Y WHITH

Y WHITH

QID : 290 - The size of the nucleus is approximately

ARG T PR @I g gl
Options:

1) 10% m

1078 &Y.

2)10m

100 &Y.

3)10%m

108 &,

4) None of these

T F FS A&

Correct Answer: None of these

T F FS A&

T F FS A&

QID : 291 - Which of the following is NOT a noble gas?
ST & FIT AT T e A §?
Options:

1) Helium

RIGRL



2) Xenon

SreTeT

3) Argon

Kiipic)

4) Oxygen

ittt

Correct Answer: Oxygen
JiTererste

Kiipic)

QID : 292 - Which one of the following is a terrestrial
ecosystem?

farafaf@a & & &la a1 v Ty aifeafad a3
8?

Options:

1) Pond

drells

2) Lake

Frer

3) Semi-arid area

- 8T

4) River

er

Correct Answer: Semi-arid area
- &1

er

QID : 293 - Under which scheme each member of
Parliament takes responsibility of developing physical and
institutional infrastructure in three villages by 2019?

fFa Iste & 3T U dg 2019 d& el Imar
# #ifder T FEUETd §iAAE o & faer @
SFAeY e

Options:

1) Saansad Adarsh Gram Yojana

e 3Meel I Irstel

2) Indira Awaas Yojana

sfer 3mmara At

3) Unnat Bharat

oold AR

4) Saraansh

HRIET

Correct Answer: Saansad Adarsh Gram Yojana
qiae 3G AH Al

ARTA

QID : 294 - Who discovered Hydrogen?
gISaIeTeT T @ieT fohaeT &I?

Options:

1) Henry Cavendish

g hafeser

2) George Cayley

SiteT el

3) Samuel Colt

AT FIeT

4) W.C Roentgen

ssog, HI. Jcold

Correct Answer: Henry Cavendish
g hdfeser

SiTeT el

QID : 295 - The First Asian Games took place in which
city?

Jeell TRITTS Wel fhe el & g5 A
Options:

1) New Delhi

s feeelr

2) Shanghai

NpIES

3) Beijing

aifSir

4) Singapore

IE3EILSEY

S

Correct Answer: New Delhi

75 feee
75 Rl

QID : 296 - Kalighat paintings derives its name from its
place of origin kalighatin ____ .

Freltere ey & A H 39 HoT AT
Freigre & fAswar gl

Options:

1) Kanchipuram

FrARH

2) Kolkata

SHIHIAT

3) Kushinagar

FMAIR

4) Kathgodam

HTISIMNSTH

Correct Answer: Kolkata

CIGEAGII
CIGEAGII

QID : 297 - Who won the Pulitzer Prize 2017 for fiction
named "The Underground Railroad"?

fhdeT 'g SIS RIS AHF Hfedd HUT & v
gfelco RESR 2017 STdr?

Options:

1) Colson Whitehead

PlcTdel TEI5Ces

2) J.K. Rowling

S, 3forer

3) Salman Rushdie

HolHATT LT

4) Nora Roberts




AT Few
Correct Answer: Colson Whitehead
Fledl SgI3Ces
I SETICES

QID : 298 - Who is the author of book named "An
Idealist View of Life"?

T Jsfeafaee o 3% AISh" A JEdd & oEd
e &7

Options:

1) Jawahar Lal Nehru

STATEY ool g®

2) Dr. S Radhakrishnan

ST, TH. TR

3) Jai Shankar Prasad

ST AR TG

4) Mulk Raj Anand

Hoh ol 3eig

Correct Answer: Dr. S Radhakrishnan
ST, TH. TR

ST AR TG

QID : 299 - Konkan is the annual bilateral maritime
exercise between the Indian Navy and the Navy.

FIhUT HRAT ANGAT 2T AT & g aiffs

AERGIR T CAREES Dl
Options:

1) Chinese

A=Y

2) Russian

4

3) German

SHA

4) British

fafeer

Correct Answer: British

fafeer
GG

QID : 300 - Which is NOT among the three rivers of
Indus water system over which India got control under
Indus Water Treaty with Pakistan?

fFrafaf@d & & @l [y STor yomel & die aAfeat &
At ¢ o W oRa & aifdeas & @ 8y o
i & dgd fag=or Fan

Options:

1) Ravi

ar

2) Chenab

IBCIC]

3) Beas

IEs]

4) Satluj

Hdelal

9

Correct Answer: Chenab

IEGIC]
=g



